a=: 2
HE: M NI HE(BA/ABGUH)
S9l: AE - BE MBI (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
=2 2F 1t 17,993,014 17,920,893 72,121
= 6,027,456
Xl 20,665
J| 6,771,331
< 5,173,562
S8 QU2 FR(BA/AMSoAerN) 2,808,226 2,147,845 660,381
= 1,961,956
Xl 20,665
< 825,605
AE - ZE AdaeZs 2,808,226 2,147,845 660,381
= 1,961,956
Xl 20,665
< 825,605
FSAE L ML 2el 16,640 17,060 A 420
202 044l 13,640 13,640 0
01 S LHOIYI 13,640 13,640 0
OAE & AL 2el =& 13,640
206 M= Hl 3,000 3,420 A 420
01 M= 4l 3,000 3,420 A 420
osszs dM 7Y 3,000
QUHSSAYZTAIR &5 23 20,000 22,000 A2,000
301 Ler2a s 20,000 22,000 A2,000
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OZANES AHEY 20,000
SSRAMMHIA =FEH 15,000 68,000 A 53,000
307 21201 A 15,000 68,000 A 53,000
02 HIAFAAFEX 15,000 68,000 A 53,000
onlsd=3ddUsa XN 15,000
Olglo]l dsHel etdae] A (=1) 2,634,960 1,923,640 711,320
= 1,896,400
< 738,560
308 MXIEHMSOIH 2,634,960 1,923,640 711,320
= 1,896,400
< 738,560
01 HXNHHBHELS 2,634,960 1,923,640 711,320
odgaeld XN 50,000
= 50,000
O0e ol sa2elXadH 29 2,584,960
= 1,846,400
< 738,560
= fMdzel2g(=22) 100,961 97,079 3,882
= 65,556
< 35,405
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= 1,347
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OADIE AlSotN2e SEY SARS 2,694
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= 26,119
= 26,119
01 2LHOHI 52,238 52,238 0
oOEs (58 )t 29 52,238
= 26,119
= 26,119
206 T 24 15,878 15,878 0
= 7,939
= 7,939
01 & bl 15,878 15,878 0
Ox=HEA ZHZL 15,878
= 7,939
& 7,939
308 XX SHAMSOIA 30, 151 26,677 3,474
= 30, 151
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OALNIE AZEotE e SgY Se3 17,951
= 17,951
OALI 2AE EsH| 12,200
= 12,200
AZEOIE 2ZAl & HE(=2D) 20,665 20,066 599
Xl 20,665
201 et A | 10,210 9,914 296
Xl 10,210
01 AtR 22l bl 10,210 9,914 296
ORMESE otd2e FA 10,210
Xl 10,210
202 04| 2,040 2,040 0
Xl 2,040
01 2LHOHI 2,040 2,040 0
OAMZEM =1 bl 1,920
Xl 1,920
O2dAtE S =H ¢l 120
Xl 120
206 M = Hl 8,415 8,112 303
Xl 8,415
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01 Al B & A 462 3,000 3,000 0
olttsszsk e s 3,000
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= 1,500
S32HSIN& BHAMY X 60,000 50,000 10,000
403 XX SRS K20l A 60,000 50,000 10,000
02 2J| 2 S 0l CH St CH & AF R H 60,000 50,000 10,000
OZ2Z22Ho=J|& BAHAIY X & 60,000
AN LA S AU A 12,000 12,000 0
307 212t0| & 12,000 12,000 0
04 SIZ2HSHAAISHE E & 12,000 12,000 0
OEAIHN LA = At A & 12,000
B35 gl ga 29 432,000 691,200 A 259,200
308 XHXIEHSOIA 432,000 691,200 A 259,200
01 AIKSHMEMNEX= 432,000 691,200 A 259,200
ESX gl gagd N 432,000
S0tF T XRFAIS(21D) 880,000 560,000 320,000
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& 330,000
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& 330,000
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Z0HF X K& 880,000
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& 330,000
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307 2iz2to| A 9,000 9,000 0
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M 254 S3d=zMH 2H(BA/EHAZ)
Sl oloreiA AESA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 49,599
308 XXM SO A 25,200 12,600 12,600
J| 25,200
01 HIXNHHBNEES 25,200 12,600 12,600
OXg MHHEE =5288 24 25,200
J| 25,200
402 212t X201 & 165,330 165,330 0
J| 115,731
< 49,599
01 A TtEAEEX 165,330 165,330 0
os=s2s St A= 165,330
J| 115,731
< 49,599
SSEN &3(8I)0ls XNE(=21) 3,000,000 3,000,000 0
J| 2,100,000
< 900,000
307 gl2tol & 3,000,000 3,000,000 0
J| 2,100,000
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02 IZHE M AHE L 3,000,000 3,000,000 0
OSSeA 2(&I])0I& MY X 3,000,000
J| 2,100,000
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JlE &3l 41,200 41,200 0
2FA2Y JIE23H 41,200 41,200 0
201 ¢et24l 24,900 24,900 0
01 At 2t 2l 24,900 24,900 0
ORNM2Y AMR2eltl 24,900
202 044l 12,100 12,100 0
01 = LH o4 1l 12,100 12,100 0
ORNE2Y =UHHH 12,100
203 ¥ =&l 4,200 4,200 0
04 FENSEHE=LH 4,200 4,200 0
©302! 0l ot 350,000& =122 4,200
el 2l 25,557 24,218 1,339
AEAM SIIH A QlAH| 25,557 24,218 1,339
101 14 Hl 25,557 24,218 1,339
03 RIAHAZZ2 T+ 25,557 24,218 1,339
o JlE= 46,7603 » 261 12,205
© =4l 130,000& * 1270 & 1,560

- 231 -




)(JIEH/DIEL)

=
ar
aT
]
<l
N5
WD
= 80 &0
I 0H o
SRR
M & ol

& ok
<N RO O

o o o o o
o o o o
Clel<e =
. (e) o o o
no S IS i s
Ko
El
o
o o o o o
o
o
o
<
H3r .
uild]
k=]
o o N o o o|lolololol|lo o
(e © (s} < o [aN] o o o o o o
~N o 8o © oo (e l|le e e e
<+ o - oo | o o |lo | o
IS I s A i
ar
<
=
W oW ol ol W
o 558273
Mo — “ * * —
B | g e ® -«
- B BE82E
a S % 5588 W
= o 8§ ¥ © o o 0 =
o ° . = ar
= 3 - o E
I T " 5
— ol ¥ Y
5 a0 by o
. ‘ - H no  of
=2 ar il W |~ B0
F ~ Y Wz | o
0 _WE B ook | I Yl I =
- oo M~ M= wls wjﬁ Y
= |D no<F ok M oF |/ 7 |
2 AL L 0w |~k A
W Wo = ok & ORUOA| BT o [ Mo [ Ao
RO | 20 kK & 80 < |ao R R
. 10 IR el BRI
©00000|X|R|la|ls|x o0
g <r
¥ | &d | A 9|
W [=< |m|R
0 ol | DF | WH
i 1
A R

- 232 -



